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MASTER OF ARTS (ECONOMICS)
(MEC)

Term-End Examination

June, 2023
MECE-103 : ACTUARIAL ECONOMICS : THEORY
AND PRACTICE

Time : 3 Hours Maximum Marks : 100

Note : Attempt questions from both the Sections as
per instructions given.

Section—A

Note : Attempt any two questions from this
Section. 2x20=40

1. Describe the concept of ‘insurance’ with an
illustration of ‘discounting technique’ as applied
in it.

2. Delineate the relationship between a Levy
process and the ‘Markov, Weiner and Poisson’
processes.

3. Explain the significance of a ‘probability

density function’ in the measurement of age-at-
death.
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Describe the concept of ‘net premium reserves’
with expressions for the computation of ‘benefit
premium’ for different types of insurance
policies.

Section—B

Note : Answer any five questions from this Section.

10.

11.

12.

5x12=60

Apply Chebyshev’s inequality to arrive at its
bounds for the sum of ‘n’ Bernoulli variables.

Define a ‘“forward contract’ indicating the
advantage of buying the same.

Define the terms ‘present value’ and ‘discount
factor’.

Explain the meaning of the term ‘annuity-due’.

Outline the assumptions made and notations
used in a life table.

Discuss the concept of ‘variable insurance
benefit’.

What is the meaning of the term ‘status’ in the
context of 9oint life status’ ? Derive the
equations for the mean and variance of a joint
life function.

What is a ‘copula’ ? Specify ‘Sklar’s result’
stating its use in respect of a copula.



[3] MECE-103

MECE-103
UH. T (379 ) (TW. €. W)
aIa qaen
S, 2023
I HE.-103 : SHifeReRa srdomer : fagma
3T TEER
g : 3 g2 AfTHaT 37 : 100

qiT : A 9T @ FRIER Y99 g6 Hifarg

HT—<h

M ¢ 3@ 97 © FH= F uel 6 wA B
2%x20=40
. ST &1 STEYNUN K FUM SHH N W

dohich & 3BT o T Hify|

). wel kA, HWehlE, SR R wigE gtear &
a9 T i g sifem)

3, Jg % 999 Y & WO H HYeEda v
el % HETd hi SATEAl hiTSU|

4. faf= wer =t & difafael & fau fedeny
a1 Yok o SThed YHURl Hfgd fae gifaa
ST Yok iy ot Hehoud ot =A@ Hifsu|

P.T.O.



[4] MECE-103

HT—9

e : 3@ 9 9 TRl urer 9o &1 g wifS

5.

10.
11.

12.

5x12=60
o S WU % AN % fau sHe diHeel ™
ugad & fau Sieiee #t faufaer @y sifsg)
A ogay &1 gRaw, W BAH & Al Hl
gfitd s gu <Sifvw)
‘I gea' SR ‘Tl Uik’ Uel 1 ufkenfid
EdIE
‘2 aiftient’ O] & 1Y i TR iUl
T Sfted diferl w1 I w1 HRIAIST @R
deha fawgi &1 fegor wifs)
‘gfted SHT TN’ HT SFAAURON i ==l HifSg
GYH St gl & H=]H H Cyewen’ I h
o € 2 GYH Sed wodl & 3igd
faaor & fou gefteon &1 Sgcafa shife|
‘Uqh HoH FT € ? Tk U o & G
A o T dfed ‘wher uftome’ @ faftdem
EdIE

MECE-103



